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a—F | i ik | PR (kg) &% () =i i Sl FE M (BAL)
Y3002 =74 (4£E) 28 19, 364 1,188 864 324 | BW 28kg
31200 (LHE 3,888 130 130 130 BW 3031
33810 HAEI 1,480 76 76 65 | B 217
39630 Ero~A ¥ 616 59 59 431 BN 123
31900 h = 6,750 1,620 1,188 1,188 BN Skg B
34100 #A/IK 48 10, 751 49 49 32| BN 2387
34200 @M 12 2, 365 324 324 54 | B 12kg
34500 E—= 6 1,523 270 270 238 | BN 6kg
Y3033  ZHNAL 135 10, 584 162 65 65| B 135kg
37200 L x H5M 7 1, 350 216 216 162 | B Tkg
34980 ~bHE N 1 97| 32 35 32| BM 34
34800 H< b 1 389 32 32 32BN 1248 '
34800 B H 11 11, 275 108 97 97 | BN iz v b
36320 A& LD 10 2,711 324 324 173 | B 10kg
36340 &L NREF 10 5,011 594 497 497 | B 10kg
37600 Zrx 9 7 2, 052 324 324 216 BH Tkg
39350 AMET 1,296 32 32 32 BN 401
71011 A7 L—%5 30, 888 38 22 6| BMN "1, 3504
71150 LiE 505 32 32 24| BN 187K
53456 7= RlE “ 1,701 486 486 486 | B 4kg
Y5001 AHRTERS 340 162 162 162 | 15 %kg
30100 72\ Z A 150 25, 920 173 173 173 | At 1504
30300 A% L 50 32, 400 6, 480 6, 480 8,480 dbifiE 57— A
30300 A% L 80 17, 280 2,160 2,160 2,160 | H1[E 84— A
31100 M3 M 105 19,116 2,808 2,700 2,700 | =& Th—2R
31200 (L HE3E 4 864 43 43 43 BERE 204%
33500 H T X H L 1 907 76 76 76 tE1E 1248
33810 HAFE 8 4,320 2, 160 2,160 2,160 | E 24— R
33810  HHH3E 8 5, 184 130 130 130 |ERE 404% ;
Y5005 4 kE A 5 1,534 1,534 1,534 1,534 | K4y 1r—= |
31700 F ¥~ 180 33, 048 1,836 1,836 1,836 |BEE 1847 — 2
31800 1EHINAE 4 4,752 238 238 238 | FEIR 204%
31930  Zh¥ 6 8, 100 151 151 119 | K4y 604
34300 72 20 8, 424 2, 484 2, 484 1,728 | =R 44—
34300 72 3L 20 9,936 2, 484 2, 484 2,484 FEAK 44— 2
34400 k= M 28 14,040 2,052 2,052 1,728 fEA T — 2
34460 I =L E & M 9 10, 174 | 270 270 194 REA 435y |
34100 HI/I 20 7,776 1,944| 1,944 1,944 HEA 4 —2
34100  #/I c L 10 3,456 1,728 1,728 1,728 | =& 2hr— A
36200 fH#nE L 90 25, 596 3,024 2, 700 2,700 | AtifE 97 —A -
36600 7-E¥rn¥E 2L 120 16, 524 2, 808 2, 808 2,700 | dLiEE 65—
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a— R & Eko | B (ke) | &) =i A Ll PE H (BfD)
36600 7~ ENE S 100 13,500 2,700] 2,700 2,700 dciEE = 5% v b |
37200 Lxo5a 2L 12 3,564, 1,188 1,188 1,188 f1[E 3y —2
33400 LH R 6 1,890 140 108 108 E%F  16fA

Y3092 ~A T —J —7 3 2,419 173 173 173 | IR 1448
33300 Ymy =y — 5| 2,419 151 151 1517 AU 16 |
38100 A LWz 10 7, 290 86 70 70 | =6 10078y 7
34980 ~bE 9 918 38 27 27 RS RI%N

31310 APE 4 2,592 130 130 130 | %[ 2043 |
31500 /MvadE 15 5,292 108 65 65 754% |
132500 AOiE 1 1,188 119 119 119 K%y 105 1
37560 BT 1 2, 862 324 270 270 | K4y 1073 7
36400 7ed 0 h 2 L 10 6, 264 6,264| _ 6,264 6, 264 | T 7R 17—
38521 S/ Lw U 3 2,754 92 92 92 | k@I 3048
Y4008 /N7 AT A 390 49, 410 972 648 324 B8 1847 — R
40400 BAEJEM A A 210 30, 348 1,512 1,512 1, 080 | ‘= & 21—
40400  FAEIEM A A 20 1,728 540 540 324 EIRE 44— =
Y4016 Y o35 80 24, 840 5,616 2, 700 2,700 | % SIS
43613 BAEHE 2'S 5 1,188 1,188 1,188 1, 188 | 1& il 14—
Y4020 | FE72 UAh 38 14, 472 2,916 2,916 2,808 Fnakil 54— %
Y4019 =2 —~ U —A 30 23, 976 270 238 227 |HEA 1005w 2
48000 U/ 2L 6 540 540 540 540 IR &

48000 U7 M 8 540 270 270 270 | [LFE 21

44400 7 X U v 5 4, 320 270 270 270 | K% 163y 7
45800 B U< L 1 648 | 162 162 162 | 18 [ 4Ry
49300 F 7 4 TA— J 5 2,916 2,916 2,916 2,916 =a2—Y— 1F/—2
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